
Lecture 10 - June 5

Lexical Analysis

ε-NFA: Formulation, Processing
ε-NFA to DFA: Extended Subset Const.
Minimizing DFA: Introduction



Regular Expression to epsilon-NFA: Example
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Derive ECLOSE(q0).epsilon-NFA: Formulation (2)
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answer : 9G0· GisGisG3 : 953



Language of a epsilon-NFA

epsilon-NFA: Formulation (3)
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epsilon-NFA: Processing Strings

How an epsilon-NFA determines if input 5.6 should be processed

Exercises
D.

6# & +23
Ste

#
ECLOSE (g0) = 990: 13
8(90 > 5)v8(G15) = 08581 : qui = 983
ECLOSE (q1)~ ECLOSE(gu)= Egi3 vEgu3 = 991 = 84]

Exercise



epsilon-NFA to DFA: Extended Subset Construction

-Of(God) of (Gind)# = 5 -> a set
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 Minimizing DFA: Algorithm
D What if M = M = no optimization

was necessary
accept states ②What if

&N' > IQn ?
non-acceptstates should not be

-

- as soon
as p =T possible !

=> no further optimizatioa
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